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����������������������$�������	#����������9����������������������������	�������%

4����������������������
�����	������$�����������$�����#��	
�������������
�������������#��������  ����#���  ������ ��� ����
����� �������������������#�$��

���
�������� ����������	����#��	
������������������������8�������������������
�����
����	��������
���	�������������$��������������#����!��� ���
�����������	���%�<�����
�����$������������ �������������#�������$���	
�������$������� ���������������	�	��
#��	
������������������	���	���� ����������?
������� �� ��$��������� ����������
���#�$�����$ �����
�����	��	���������� ����������#��	
����������#�����������	��
��	��	���������������%�*��� �������
���������������������������������������������
��������$���������������%�7�������	����	���������������������
����������	�����
$���������������� +	�	�������������������������� $��  ������	�������	�-%��������
�������������$�	�
��	���	�� ����������	����#��	
����������������������	���	������
“���	�����”������������8�� ������������	����	�������������	������������������������
	��������$���������������������!�����������	#��%������
���������
	�
�#�����
����������“���	�������”������ �������
���������������������������������	����
���	��	���%

7����$��������$��������� �����������	������������
��������	��	���������
 �����������������	�#��	
�������� ���������%���������������������� �����������
���������
������������	������������2)����B)C�����	
�������$������� ����������
�;"��������#��	
���������������  ����#��������;"%�4��  ������	�������	������
��������$���
���/)����BDC%

��������������������$������������$��
����
���������$��������� ��������	��
#��	
�������� ���������%������������ ����;"����(D00�  ������ �����!�������������
����	��������������$�����������������#��������������$��!����+CMIR - Currency and
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Monetary Instruments Reports). 7��������$��!����������������������#��$�������������
�������������;"�����������	
� ����#��������;"�������������	�����$������$����
+�����$���$������� ���������3)))��;"�������-%�
�$��	������?
����������������������
�����������������	��������$��������	�������	�	������	�����$������	��	
��;"�������
����������#��	
������� ��� ���������%���	�	��� ��	������������������
����� ��
��������� ��������� $�� �$������ ��� ������� 	��� ����	�
��� ��� ���� ����� �$����
+	�����������	������������������������������!����������� ������	�������������%-
��������� ������$�����	����������������������$��!������$����������!��� ��������
�$���������3)))��;"�������%

��	���� ����	�����������������������������	���������������#��
�������
����$����� �����������������	%�������������������������������#�����������������#��%
����
���$����$��������	������?���������������	������	���������	��������$�������
$������������	�������
�����������������	�������������� ������������	#���+	�	����
������� 	
�
����� ��� ������������ ������� ������ ���� ����������-%� 4�� ���� #���
������������	������� ������	�� ���
���	���  ����������� ������$���%������������
��������#��	�������
	�
�����������!��������
�������������#�������	���	�������
����	�  ������ ����������� ���	����� 	���  ������ ��� ������� �$������ $�� ����	�� ��
���	������� ��� �� ������ ��������#��%�7�
!������ �����#��������� ��������#��
��������
����
�����
#�����������!��������	�������� ��������������#�������������	�
���	���������� ��������������#��%�������������������#���� $����������#��	���
���
	�
����������!��������
���������������
���	�	����������������	�����$��������
���������	�����
����������	%

7�$��������������� ���$���������������������$�	�
�����	��
����
���������
����������������	�����
����������	���������
�����������������������������#��%
7����
��������������������������
����7
6�$��$�����������	�������E��	�����$�����
��� ����������� ����5���
��� ����7
6������� ��� ��� �	���	����$���� 	�	�� �������
�����$��	����������	����������$��������	����$��������:=�$�������#�$����$��!
����
�����	���������%���������	���������	������������	���	����������8��������� �����
$��������
���	��#�������	��	
����#��������	�����$���������
���!������@
�
�����
��	��	
����������� ����������������#�$����������#��� ��� ���	�� ����$��!�����
	�����$���� ��� ����5���
����%�������� ������ ��� ��� ������� �����������	��������
	�����$���������7
6������;"��������������	������
 �����
����	�	����	�����$��������
��#�������������
������ $����������	�������5���
�����#��	
�������	�	������$��
 �������%�6������	�����$��������������$�#�����	�������� �������$��������������	�
���
����������	��$����������������5	�����$����������������������������������
�����
�$��������������#������������������������������$����%���������8�������������������
���!�����������8����������������$�����������	�������������������#��������	��������
!�����������
����������$��������$����������	�����	������$���%

	� 
��
������
�������������
����������������������������
������
��
����


4��������$��������������������#��#��	
��������������	�����������$������
	���� ��� �������  �� ���������%� ������� ���#��	����� ����� ��� ���� �������� ��
�������������;"���������� ������	�����	��#��	
�������������������%���� ����
�$���� ��� ����� ���
���#��	
������� ��� ����	� ��� $������� ��� F
����;����	���� ��
:�����������<�������������%�7��������������������������	�����������������	���
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���	��������������8������	�	�����
���	�����������	�#��	
�����$�����������#���������
�������������#�����$������%�����	����� 
����	
����$����$������������	�#������$�
�$������������
�������
�����
#�����������$����%

���#����������
����������	��������������	��;������	����:������������	�
����
���8�����(DD0� ������$�������������$ ���
������������$��!����$���#��	����
�$���������������	�����
����������	��������$��������:�����������<�������������
+G�����	��������������E� �������H�!	����������	�-%�<$��!����������������������	���
�������������������I�������	������I����������	���� ����������	��������	����$����
����������
������	��
�()))���#�����������������(2� �����%�����������#������������
�����	��������������!
�����$���$���������;������	��!����$�� +ATS-���������	�
���	��+DEM-���;"��������+USD-��J���#���	������#��+CHF-���'��������'����
��
	��� ��������	�������%�"������������������	������������$���
�����������#����$��������
���������$�������������������
���������#��$������������������	�����
����$������	���
$�����
������	������#����������������� ����$������������	�������
��������	������
��
8�� ����$����������%�<���8�� ������������	������	��
������������ ������	�������	�
�������	��������������������/��������������$���������������((C����(DD0� ��������
�����	
����.C����,)))� ���������������#�����������	������������������������ ������
��� ������������!�����(-� �������	��������������� �����������������������������
����!�������������	�������
���	��$�� ������	�����	�1���,-������ ������	�������	�
���$����
�����$���;"�����������$�����������%

;����$���������$
����������� ��	��������	��
��� ��	�� ������� ,))(�  �����
���#�����������#��	�����������	����������������	�����
�������� �������������������
������	��+����3)C-����!������������H�!	��+����/)C-�����G�����	���$���
����	��

,)C������	�����E� ���������������+�����	
����()C-%�"������	�����@
�
����������
���#�����������$��������������G�����	���E� �����������������������������H�!	��
����	�� ������������� ��������	�� ��� ��� �� ���������� ��$�������� ������#��%���
������������
�����������,))(� ���������$���������������	�����
�����������$��������
��	�
��	����������	����!�� ������	�������	������	�����������������	����!���� 
	�	�����������$���������������	�����
�����������$���������������G�����	�%�����������
$���������������������	�������
�����������$�����������������������$����������?

������������8�����
���������	�
��	����G�����	��	���� ������	�������	�����������
�������8�������� ��
 ���� ���
������ ������� $������%�<���	���� ����� ��$
�������
��	��
�������	�����#�����������#����!���������  ������	�����	������ �������
H�!	�� �� ���������� ��	��	
� ���G�����	�%� ��� ���� ��� ������
�����	���� ��	�
���������������G�����	�� ������	�������	�� ��	�������	�	�����������$����$����
��������������	#��� ���  ���������������� ����	���������������������	
�
����� ��
�$��!
����������#�����������������������#��+	
��-%�*��������$������������
����
�;"��������������	��!���#���	��������#��������#���
�����
����������)53C������
��� �������$������%�<����������	��� ��������'������������
��'�����$��������
������
���������	�� +����,)C-������������ +�	��
�,)C-������H�!	��+()5,)C-%�����������
������	�� ����� 	��� ������ ���� ��� ������ 
��������!��� ��� ��������� $���������
$����������������!	����	��
�����
� ���	����������������������%

�����#��	����$���$���������������	�����
���!���#��	
��������������	���
�����$���������#�����������������������$���	��������
����������
	�
�#��������	�����
���������	���������������	�$�������$��������������������!���������������������
�������#���!���������
���������������	���$�����������������������#��%��������
�� ��������������������������������(DD0� �����������������(DD.� ������+�����������
�����
����������������	������������E�����+��E--����������(DDD� �������������,))(
 ������+���������������
������������E-%�
�$
����������	��
�������	�������������
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��������
������������E�������������$��������������	��!����$��!���#��	
������
�������	���������������$������$���������������������������22)�ATS�+������	�-���
D()�ATS +G�����	�-%�<������������������������$������� ������	�����	�������������
2B)�DEM����3,)�DEM����G�����	�����������������	��
�(0)�DEM���������������$����%
7�����������������������$������������	���	�������������������������?
�,))�USD��
/2)�USD����H�!	����G�����	������?
�(,)�USD���(2)�USD����E� ������������������
������	�%��������� �������	��$������� ������	�� ���
���#��	
������� �������	� ��
G�����	�������!������� ��������������������$��������� ��	���� ������	�����
�����
�������������%��������������G�����	������E� �������� �����������������
�������
�$�����������	����������	�����
��������	�����H�!	���$��������������	���	��������
���������	��!����$���������$ ����
���������$��������� ������	�����	�������
����%
7��������	������������������������ ���������	����$����������������	��!����$����
�$�������	��������������������
������������������������������	��������������������
�� ����������������������$���������������������	�����
�������������������%

6������	�����������������������	�������������$���������������
���������	��
$�������
������������$�����������$��!���#��	
��������������	%�4����������������	��
������	��������������$��!������������������$���������������	�����
������������
��	������������#���
�������
���������������
���������#���� �������$�������������$�
!��� ��������	�������%(���������������������������$
������	�����������
�����������
����������������	�����
������ �������������������	
���������������������+�������
��� (2�  �����-� ��� ������� �#��	�� $�� �����
������ �$���� ��� ������	�� ���
���!��
#��	
����������$������%�6#��	�����������������	�����������	��
�����	�������������
������� (DDD�  ������ ������� ,))(�  ������� ��������	��	��
� 0�D����������� �������	�
!����$��� 2�(� ����������  ������	�����	��� (�3� ���������� �����	���	�� ������
#��	
������ �������	� ��� �����$�������� $����%���� ��
 �� $�������� �	��
� 3�/C���
�	
������!����$���������	��(�0C���� ������	�������	����)�/C���������	���	���
�������#��	
��������������	�������������$����%

*������(
����������$�������������	�����
���!���#��	
��������������	
+����������-

11.1997-11.1998 05.1999-05.2001 11.1997-11.1998 05.1999-05.2001 11.1997-11.1998 05.1999-05.2001

G�����	� 368 317 1325 914 143 124

H�!	� 2709 5058 2027 1828 737 974

E� ����� 776 744 374 185 87 81

������	� 1128 1104 453 464 287 269

��������� 786 647 700 606 31 68

2�����	 5768 7870 4901 4081 1467 1516

C������6 4,06 5,25 2,01 1,69 0,35 0,30

;������	��!����$� (ATS) �������	�����	��(DEM) ;����	���	���������(USD)

������������$��������� �������$��������!����$������	�����������#��	
������
���H�!	������!����$��������������������	����������������	�����G�����	�%��������
��������������������
������������E�����������������������������������
���������
��E��$����������������	��!����$��$��������$ ����
�������������H�!	�������	�
��������������$������������������� �������
����%�;����
�������$������� ������	�
���	��������������
��������������$������!��������������������������������$������
�������G�����	�%�<�������������	
�������$������������	���	�������������������
$�����$��������$ ����
����������������������������������H�!	�������������%

( �����	��������#���������������!
����� $�� ���������$������� ����$�� ���	���������� ����� �
	
� $�
	��� ���$�������$�����+�����%�K())��K3))����%-%
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;����$���������������� �������� +������� ,)))�  ������ ������� ,))(�  �����-
��	��
��� $�������� �����
����� ��� �	
������ �$���� ���  ������	�� ���	��!��
#��	
��������������	����������$�����+$��//C-��!���
	��
�����������$����������
���?��	�������������������	���������
���	��$�� ������	�����	����������������%���
��������� $������ �����
������� ��� ��������� $�������������� ���H�!	�� +$�� 3BC-��
G�����	�� +$�� ,3C-%�
���������� �����$�������� �����
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��������������#�� $�� ����$�����	
������ �������� ������������  ������	�������	��
�����#������� ���
�����	��������$��������� ����������������� �	��������	������
����	�%

����9���������
����� $�� ����������$
����������	���������	���������$���
�������������%�%�stationarity���������������������#���������������������������������
���8����	�����������������������������������%�*���$�������	����������������������
����	
��� �������� ������� ���������� ������������	����������� ��� ��	������ �������%
������#���� $����	�����	�����	��������� ���� �����������!��� ������8����������
 ������ ��� ����$�#������ �� �������$�#������ ��� �	����������� ���$������ ��
	���	����$������ ��������������	������������������������	�������� ���#�������%
4������ ����� ���� �����$���� ��� $������ �����
������ �������� +first differences)� ��
��� ���������������#��������������	�	������������������$���������
������������
���������	� ��� ��������������� ������#�%� ��� ���� ������ ��� ��������$�����
������
����������������������#���������������������������������������������%

�	���������	���� ������
����� $�� $��������� ��� ����$����� 	
��� ��
��	�����	�����	�������� ���	�
�
���������������������������$��

(I������$�������?
$���������1
,I��� �������������$�1
/I�impulse response �
�	#��������	����$�#������������������%

� 	B������	��	��0���������
���&�	������������	�$�����������?
$�����������
������������������������	�������	��������	����#�����������	�������������	�����#���%
&����#������� ��� 	�����������  �� ��	��
��� ������������?
� ������#����� ��� ���
���������%���$��������� ����������?
� ���� �����������$���
��� ��	�� ��� ����	���
����������������������������������� ������������	�����������������
 �������������
���������%�&����#����������	�����#�������������$������������	�$�����$����������
��� ����$������� ��� ���������� ��� ���� ���������� ��������� 	����#������� ��
	�������������� �� �� ��������������� ��� ����������������������$��$
����%�<�����
	����#����������	�����#���������������?
�5(���P(������!���	����#��������	�����#���
��� 5(� ��	��
��� ��	���� ���������������� ���	��� 	����#��������	�����#�������P(
��	��
�����	����$����������	�������	��	����#����������	�����#����	���������������
)��$���
������
��������	�����#������?
������������%�&����#�����������	�����#���
��?
�����$�����	
��������	������������#���������������������+���������-������������
���
����(DD/�5�����������,))(� ����������������������������	�����#����������#��

*������(
&�����#����������#�0

DP DM DER

DP 1 0.097916 0.414211

DM 0.097916 1 0.162072

DER 0.414211 0.162072 1

0 M� �����
DP�5������#���1
DM�5�������������1
DER�5�����$���	
����&"I"��1
DIP�5����
�����	������$�������1
DLIR�5��	������	�����������	��������	���%
S1…S12 – ��$���	����	����1
D1�– dummy����������%
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6�������������� �������	������	������������#�������
��
���	����	����������
�$���������������������������	����$�������	�����#��������	���������$�����	
�����
�������� ��� ������ ���  ������	�������	�� +)�2(-%�6���  �� �� ���
��� $��������� ��
���������������	��������	
�����$�����	
��%�6����
 ����������#��������	��
����
��� 
�����������$�������	�����#����������������������+)�)D-%�������������������	�
��$�������	�����#������?
�#������������������������������������� ���	������������
���������������������������������!�����!����������������������$�����
!�������
������ ���������������������� ���������������8������������� ������������ �������
�������$�����	
��%

! 	����������	������������������$�����������������	�����#�������������������
������������?
� ���� ���������� �$�������� ��� ����������� ��� ��
 ���� ���������%

� ���������������$������ ��������� �����������!������$���
������ ���������������
����������$��������������������	�������������������������$�����������������%���
�����������������$���
������������������������������������������$����������������
�������������������
 ������$�������������������$�$���������������������������������
�#����������������������$������%

7��������������������$�����������$
������������� ���������������$�����	���
	�	��$�������������������$�����������#�����%�:��������������� ���������������
������
���������������	���$���������������������#�������	�����������������������#�����
������������������	�%

*������,

� �������������	��$�������#���
Dependent Variable: DP
Method: Least Squares

Sample(adjusted): 1993:04 2001:09
Included observations: 102 after adjusting endpoints

Variable Coefficient Std. Error t-Statistic Prob.  

C -0.101252 0.174303 -0.580894 0.5627
DP(-1) 0.350534 0.076231 4.59831 0
DER(-1) 1.061246 0.213357 4.974034 0
DIP(-2) 0.00622 0.009607 0.647447 0.5189
DM(-2) 0.000277 0.000208 1.329161 0.187
DLIR(-2) -0.001651 0.002475 -0.666815 0.5065
S1 1.882819 0.572992 3.28594 0.0014
S10 2.134986 0.541974 3.939276 0.0002
D1 5.206531 1.490744 3.492571 0.0007

R-squared 0.587811     Mean dependent var 0.933333
Adjusted R-squared 0.552354     S.D. dependent var 2.158214
S.E. of regression 1.443982     Akaike info criterion 3.656783
Sum squared resid 193.9128     Schwarz criterion 3.888399
Log likelihood -177.4959     F-statistic 16.57811
Durbin-Watson stat 2.272929     Prob(F-statistic) 0

7��������� �������������$�������#���������������������	
��������������������
����$����� 	
��� ��� �������� ��� ������ ���  ������	���� ���	��� ���
�����	���
����$������������������������������!����	�
�������������������������������������
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�������9�����������#���$����������	�	����������	��$���#�
����������	��
�����	�	�
����������������������
���������� $������������������%�7���� ���������������$�
�	�
������������$���	������	�������������������	�	������������������	�������������
���������������#���� �������%���$���	�����������������������������#���� ����������
��������������������������	�����
 ���������������	����������� �����!�����!�
��������������	��	�����(DDD� �����%�7�������	�������	�
������������dummy ����������
���	�������������
�������	�����������	����$�����������#���������������
���������
����	���������������������������������,)))� �����%

7�	���������������	����������������������������
���3.�.C����������#����
��������#���������
��
���	����	����������� �������������������	����#���������
���������#���%�<������������	����#�������������������#����	��� �����$��������
����	�
�������������������������������	�+33�,C-��!���������
�����	����������$�����
���������$��������������������#��������$������������������%�6 �����
���	����	���
��������������$������������� �������������������������#��$��#���������
��$����	��
������	
������������$�������������������$�#�����������	�����	�����	������������
	���������������������$
������������� ���������������$�%

7�������������� ����������	����#��������	��
�����	����� ��������������
��$��������������#���������
��
���	����	����������������$�����	
�������������
������������ ������	�������	�������������������	��$������
����������������������#%
6���$������
����������������������������������%�%�Granger causality test, 	������$���
��
������
��������������	�5����������������������?
������������%�
�����������$���
����$���������������������$�����	
�����$�����������#����������� ������������	�����
,))(�  ������� 	� �� ��
	�
�#����� ��� ����$����� 	
��� ��� ���
���	���� ��$���
��������������  ������ ��� ���9���!	�� ��������� ���� ����������� ��� ��������
$ ����
����� ��� ������� ��� #������ +��� �
��-�� ��?
��
 ���� �� 	�	�� �������#�� ��
�����������������#��������	
����%�4����������������$�����	
��������������$�
�������������#�����������	�����	�����	��������� ��������
����� ������	��������
	�	������������	���������	���������%

3/ Impulse response ,���&���	 �	 ���������&���	 ��	 ���������
�� Vector
Autoregressive���������+VAR-���!���	��������
����������$�������$������������	�
�����, 	��� ��� �������� ��� �	�������  ��������� �
	
� ��� ��	����� �� �����#�� ��
	����#�����%����������������������������������������������$���������������������
�������������������������$��������������������������������������������������
���������������������������������	��� ���
����
����%��������� ��	����������������
����������������������	�	���
�	#���������������������������������������������������
�����������������9��������������%�"�����������������
������$�������$��������	�
���Vector Autoregressive���������+VAR-����Impulse response �
�	#����������	����$�#���
��������������%

<������VAR� �����$�������$���
��� ��� ��� �� ����� �����
������� ���	����
������������������������$�������������������$����������$���������������������	

���	�$�����%�%�impulse response function%�����
���$����$�����
����������!�	�������������
����!���#������� ��� ��� ���������	�����	�����������������������%�������������� ��
���$���
����������	��	������������������$���������?
$������������������������%
7�����	���������������$���$��������������������������������	#������������#��������

��
���	����	��������	�	����$
��������������������
�����������$�����	
��%
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�����	���,

��� ����	�����,�������������	#��������������#�����������������������������
�������$�����	
�������������������������� ������	�������	�%�*�	��������
������
�����
��������	
���������������������������� ������	�������	��+��������#������
��������������������-��������
�����������������������
������������������#������
�������������������	��$���#�
����%�*�����	��
�����	���������������#��������
 ���������	��������������������������������������$�����	
��%

7�����	���� VAR������$��������	�������������%�%���	����$�#������������������
������$���
����������� ��������
	�
��������������#�����������������������������
�
�	#��������������%�����������������������������������$��������������$���������
������#����� ��� ��	���� ��� ������������� ��������� ����������� $�� ������#����� ��
���@
�
������� ���������%�7�� 	����	��� ��� ����� �����$��� $�������� ��� ��� �� ����
���
	�
����� ��� ������#����� ��� �����#������� ��� #��� ��� ��� ������ ���������� $�
������������$���������������
����������������$���������#�������������������%

*������/
 Variance Decomposition of DP:
 Period S.E. DER DIP DM DP

1 1.563544 2.056521 0.242905 0.335046 97.36553
2 1.728049 12.06117 0.596287 2.801579 84.54096
3 1.916578 23.4603 0.659547 3.719251 72.1609
4 2.023853 29.43746 0.648069 3.724988 66.18948
5 2.091146 32.46683 0.636348 3.838407 63.05842
6 2.116567 33.4497 0.634197 3.786375 62.12973
7 2.128764 33.87994 0.627182 3.800868 61.692
8 2.135457 34.12986 0.62381 3.812895 61.43343
9 2.139038 34.26356 0.623423 3.814741 61.29828

10 2.140809 34.32956 0.622537 3.814967 61.23294
11 2.14178 34.36582 0.622045 3.816217 61.19592
12 2.142286 34.38474 0.621885 3.816481 61.17689

7��������� /� �� ������� ��	����$�#������� ��������������������#������ $�� (,
����������������������%���� $������
��� ��	�� �����	�
�
�������� ������#�������
���������� 	���	����� ���$���������� ���� ��� ������#����� 	��� #������ ��� ��������
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�����#������������$�����	
���+/2�2C-%�<����#����������������������������������5
��������/�.C�����	
������������#������#�����������	�������������������
�����	���
����$������������������+)�BC�����	
������������#��-%

���$
������

�������	���� �� �	���������	���� �����$�� ��	��
����� ��	�� ������������ ��
����$�����	
��� ��� �������� ��� ������ ���  ������	�������	�� +�������� ������-� ��

��
���	����	�������� �� ��� ����	���� ���	�� ��� #��������� ����������%�6��
	��
������������������� ������������ ���������������$�����	
�������������������	��
��
	�	�����������������������������
���!��%�<���������������������$���	
�������������
�����	�����	�����	�������� ���������
����
�	#�������������������	�����������8�

��������� ���������$�������������“$�	����”������������������	
�����������������
���������������#�����%

�����	���������������	��
����� ����� �������������#�������:����������
���	��	���	������������������ ������������ ����������������#������� ������������
���$���������������%����������������� ���	������������� ���������������
������������5
��� ��#���� �� $���������� ���	�� ���
��
���	����	�������%�<������ ���������� ��
����	��������� ����������������#����������������
���������
����������������
����
������+�������������9����-������������������� 
���$���������������������	��
������������������ ��������������������������
�������$�������������$� ��$�������$�����
�����$������������	��	���%

7�������	����	����$������������������������	���
- ����������������������$�������$��������	���	����������!�������������
��

������ ������� ��� 
��������� ��� ���	���� 	��� 	������������ 	������� ��
:��������������	��������8����	�������������#������������������������
����$�����$����������������#�������	������������������� ����������	���
��� ������������������������	�1

- �������$�#������� �������������� $����������� ������������������������
����� ����������$��	�������!�	��������
 �����
!
���������	����������
!��� ��� ���$������� �������$������ ��� ������������� ���	
����� 	��
�	�����	�����
���	��������������������������������1

- ������	����$���������$�#����������$����������	����������������������
���
$��	�
�
����� ��� ��������� ���
	�
���� �������� ��� �	����������� 	��
�����$���
����������#�$���
����
����������������	����������	#�����?
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(D.D (DD) (DD( (DD, (DD/ (DD2 (DD3 (DDB (DD0 (DD. (DDD

�;" 2%. 3%2 2%, /%) /%) ,%B ,%. ,%D ,%/ (%B ,%,
&����� 3%) 2%. 3%B (%3 (%. )%, ,%, (%B (%B (%) (%0
����4����� 3%0 B%( ,%B (%) (%/ (%0 /%. ,%/ (%, (%/ 5(%)
;��������� 0%B 0%/ /%, (%) (%. (%D 2%B ,%B )%/ )%D (%3
7���	��=�������� 0%. D%3 3%D /%0 (%B ,%3 /%2 ,%2 /%( /%2 (%B
J����	� B%2 ()%3 D%/ ,%/ 2%B ,%, ,%3 )%3 )%3 5(%) )%3
J������ B%. B%0 3%D 3%D 2%B 2%0 2%0 /%B ,%) (%. ,%/
A���	� B%B B%( 2%( ,%B ,%( (%( (%) )%B (%, (%2 (%,
����	� ,3(%( 3.3%. 0)%/ 2/%) /B%D //%/ ,B%. (D%. (3%( ((%0 0%/
H�!	� (%2 ()%) 30%0 ()%. .%. .%2 ()%0 ,%(
��	��	� ,)%) ,B%0 ,,%0 (3%3 D%. 0%) /3%) /2%2 ,)%B (3%D (B%B
=��$�� (�,.0%) ,�D/0%. 22%D (�)).%0 ,�(2.%2 ,�BB.%3 .2%2 (3%. B%D /%, 2%D
H��� (0%) ,B%) ,(%. (3%2 (,%0 ((%2 .%, 0%2 B%( 3%( /%/

<$���: International Finance Statistics
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L(u,�π) = u + γπ2
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�	��	������	���#�	��,����&�����	��	���	�
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L (u,π) = un  - α ( π - πe  ) + γπ2

DL/dπ = -α + 2γπ
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π = α/ 2 γ
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(% ;������������������#��������������������	�	����������#������:����������
���	�1

,% �<$�������������	����������#����	�	����� ���$��������� ������������������$�
	���������������:��������������	�������������������������$��������������
���� �������� �����������������	�����������
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6������ 
�������������������������	������� ��������$�������������	������
�����#����	�	����� ��%�&���������������������������������� ����������������
��������
���������������������������	�����������������������	�����	��	
�������
����	� ����������	����������������?
��������������������� �����	��������#����
��	��	
��������������������� �����������$����������������	����������	����������
���	
������
�����������������������������	�%

��?
����� �������������� ��� �
�	#������ ��� �����
���	���� ��� �����
�����$��	����������N����������������������#��������#���������������	�����������
��������#������ ������������$�#���������� 
��#�����
	���������#��������	�����#���
����?
�	���	���������	������� ����	���� ����	������������#����� ��� ��������� ��
	�����#����������?
�����������������	�	�������������������� �����	���	��������
	�����������	��	�	���������������� ��%�6����
 �������������������$����� ���	�	��
!����� ����	������������#����� ����$�� 
���������������� $�� ����������$�������
�����������	����8������������������������%
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7����
���������������� ������������ ����������������#�����������������
��
������
����� ��� ����������� ����
�����%� <�9���������� 	���	�������	�� ��
������ ����������������������$�����������#������$������������
���������������
������
���������������������	������
���

(%���$�����������	���������������:��������������	�1
,%�6��
��������de facto ��� ���������������������������$���	
��1
/%�*������������������� ������������:��������������	�%

!���	����������
	�	���������
�
	��	*��
�����
�	�����

��$�������������:��������������	����������
��������������������������

���!��������������� ������������ ����������������#�����%�<�������������������
�����	�	�������	���� �������	�� ��������� ��� ����������#������ ��������������
������	����� 
�������������������������������
���9��������	����������$����������
�����#���������� ��%

&� �����$���
���$�����������������$������������:��������������	���������	�
��������� ������������ ����������������#�����������
���$����������N�$������������
��$��������%

:����������� ���	�� ����� ��� ����� ��
��� ��� �������	���� �������#�� $�
������$����������	�������������	
����	����������� ���������������������������%�%
���	����� ������#���%�A��	������� ������#���� �� 	��#���� 	��� ����������
��
�������������$�#����������	�������	��������#���������#�������������
�������
���������������
	�%��6�������������	���	�����������$��$�������	�������9��������
seignorage - ���.������
!�������	��	�	����$
��������� ��������$�����
����������������
	���:����������� ���	�%���� ���� ��� ��$����������	��������
#����������������

. ���9�����������������$���������������������������%
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�������#��	������������  ����������������!���������$�������������� ����%�*��
��������������$��	���������	����������������������������	�����	��	
�:����������
���	����������������� �������������������������������������	�������������	����
����	������%%

�	����������������$��$�����	���������������������������������$�����������
:����������� ���	�� �����������!�� ��
���!��� ��$
������ ���� ��������� ��
������������ ������	�� ��7���	��=��������%� 7����
������� ��� ������ ������ ��
��� ����������������#�����������	�������(DD,� ����������$
�����������N������
�������
��������� ��������������������� �������������
����������� �������������� ��������
��� ���������������$�����	
������	
���9���$�����������$���	
������ +�"&-���
�������������� �����%�<��#��������������#��������� ������������	�	����������
���(�5�2C������#������
�����
���������������������	����#�������� ������,�3C�����
�����	
%�6���������� �����������������	���������	������� �����������������������
��	���������������:��������������	������	
������
����������&������������$��!���
$�� �����#������ +Quarterly Inflation Report) 	��� �	�
�
�������	#���� ��� ����	������
�����#�����������	����������������� �������#��$��������������������	������?

���������� �� �
��������%� <� ��	���� ������
������� ��� ���#����� ��
�����#������$���������������������������	���	�	��������� �������
���9�����������
���	��������������������#�����������	��������	�����	�������	���������	������	�
��������#����	�	����������$��������$����������	���������������!�������������%
6������	����������������	�����������	
�������������������������$�����������
:��������������	���	�	��������������������������
���!��������� ���������� �������
��������#�����%

E���!��������� ������ ������������ ����������������#������������������5
������� �������������� ��������������$������������:��������������	��� �
	
�����
���$������	�����������%����������������	�������
��#�������:��������������	������
��	��������������#��������� �����������	�	��#������������ $�����������������
�����#����������	
������������	�������� ���!��������#�������������#���8�� ��
������	
���������� ��������	��������%�6�������������	���	�����������$�����������
��$��������$������	����������
��������	�����
�������������#����$�����$�����	
���+�
��������#�������������������������#���������������-%�6����
 ���������������������	�
��������������������#���������� ���������������	���������	�	�������
�����$�
������
����� ��� ����� ��������%� *��� ������ ��� ���
����� 	�	��  ����#���� ��	�
����������������:��������������	�������������������������������������������
�������	��������%

!�!�	1
���
��	��	
����
�����	��	��������
	����$	de facto

�����8��������� ���	�� �� ��������� ����	�� ��� �����#����� 	�	�� ��� ��� ��
������������ ������	�� �����$����� ��	�
�
�������� �����
����� ��� ����������
����$�����	
��%����	��	������	��
�����	�������	���$����������$�����de jure ����$����
	
��� 	�	�� ���������� ������ �� ���
!����� ���:����������� ���	�� ��
!���de facto
������
������ ������������	���������$�����	
��%������������	��	
���������$����	����
�����
��������:��������������	��

�(% ���������� ��� ������� ��� ����$����� 	
���� ���	
� ��������������� 	�����
����	���� �� ������	���� �������� ��$� ������� ��� #������ ��� ��#���������
�	�������%�7������ �� ������ 
�� �� ��� ���������������� ��� �� ������� ��
������������������	����������������	��������	������������ �����%�"�	��	
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�����������+pass – through effect) �������$�����	
�����$��������������������
���
���������������:��������������	��������$�����	��������$����
�����$�����
����� ��������
	�
�#��1

,% A�
	�
�#����� ��� ������� ��� ������������ ����$��� 	
��� �����#������ �
��
	�
�#�����������������������������$���	
���!�����$������� ��!����� ����
$��������������������!���������$�����������	�������1

/% 7������	��������$���������	���������
	�
�#������������$�����	
��������
��� �����$��	���� �������� ��� ���������� ��� ������������� �� �����������
�����#�������	��$��������	���	��������������	���� ������%�6�����������
����������������$��$���	��� �����������
#���	���������������	���������
�����	������������������������	�����
��%����������
��������������#������
����$�����	
���� ����� ������������� �
���	����� �� ��� �������� ��������$����
����������������	�����������%

���������$���������������8�����������$�����	
�������� ���������#������
������������
�	#���������������������������������������#������	�	��	�
����#�����
������������������	�%��������; �������� ������������������#����������
�	#���
�������
����������	���	�����	������������	������������������������$�������� 

�� ������������������������������������$���	
��������������������������������	���
����$��� 	
��� +��������� ��� ����������!��	
�������� �������#�� ��� 
������ ��
�������
����������	��$�����������	���	�����	��������	�-%�����	��:����������
���	������������ ����� $����� ��� ���
������
�� ����������������������$�������$����
�����
���8���	����������
	�
�#��������������������$���	
��%

!�7�	D���������
���
	�	����������


*�������������������:��������������	������������
���������������������
������	�� ����	���� 	��� ��������
��� 	��� $ ����
����� ��� 	�������������� ��
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������������������	�������������9���$�������������������
������	�������������� �������
���������������������$����������������$��������$������
�������%�����������$�������������� ���������������	�����	������������������
���
!������	������������#�������
�������������
������������������	���������������
�����#����������	
����%

�����������	���������������������������#�������������������#��
�������
������������������	������������������������	
�����������������	����������#����
��$��������������$����������������������������	�$�����%�6�������������������������
���������������������	��$���#
���������������������	�� ��$�����?
������������
�����
�����������
	�������$�����������������$��	�����	�������������%�*�����$����
�������� �����
���������!���	�����	��������������:��������������	�� ���  �
�����!
��� ��� ��	��� ������������� �	��������� �� ��� ��� �������� ��� ������� ��
������������������	�%�6��
	������
�������������������������� ���������� �������
��� �����#������������������� ������ �� ����$���� ��� ����� ������ ����$��������� $�
���$���������	�����������$������������$����	������
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6� �������������:��������������	�����
�������������������������� ��������
��� ���������������#��������������������������������	
������	����$�����$��������
��������������������	������������#����������
�������������
����������� ���������
���������� �	����������� 	��� 8�� ��� ���$����� $�� ���8���� ��� �����#������ ��
��� ������������������%

3��0�����

������	�

��9���$������������������������ ������������ ����������������#��������
�������	������	������� 
�����������%�:��������������	���������������� ��$����$�
������������� �����#������ ��� ��	��� ���������������� ��� ��$�������� ����	����
�����#�������������
��������� ��������������������!��������
�������������
����
��������
��� �� ���� $�� ����	���� ��� ��������� �������� ����� ��
������� ��
�����
�����������������������������	�%�6����
 �������������	������������	�����
���$�������������������#���������$�������������8����	�����	����������$������
��������������%

7���	I
��������	��	
����
�


E����
��������������
������������� �����������	��������$���������������
��� ��$��������� ���:����������� ���	�%� ����	�� ����������� ��� ������������
��$������������:��������������	��	�	��	�
��������������	��$��
���!��������� ���
������ ����������������#����������!������$������	��� ��
����
����������
������ ����
 ��������
���	�	����	
������%

<�	
������������$�����%�*�	������;�����������J����	����A���	����� ����� �
�����
���:��������������	�����$���	�	��������������������������%�7��&�������
����4�����������
������������� ������� $������	���������������� $������������
�
������������:��������������	�%�7��������������4��������� �������$����� ����
���������	���� +Policy Target Agreement) ��������!
������ �����������
����������
����������� $����������%� ��� �������  �� ��������� ���	�������� ����	��� ��
������
����������	��������#������������������������	��� ��������������#�����%
��������
�������������� ������������ ������������?
�:��������������	����"��������
������������ �������������!
��������������	��������	��������������
����������
����� ��� ��	��� ��� ��������%�<�����
������� ��� ��� ����� ��������
��� �������
	������
��+performance criterion) ����� �������$��������������������
��������%
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������#�����
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������������	������������#�������$
������� ���������
������������������
������������������������	���������%�6�����
��������������
	���� ��
 �� #�������� ��� ����� �����$������ ��� ����� ���	�� ��� 	���� ��� ��	��
��
	�����	���������#����������	���	�����	������������%

*�	�������
����������������������������������#��������	��$�����������
��1
�������*
	������

����	����+���������������	��$������������������� ��������
��� ����������������#�����-%���������������de facto ��	�����������������$���	
���



�������	�����	��	���������	����������

58

�����#����������������������#������:��������������	���������$�������$��%��������
��������������������9���$���$����
�����$�����������	����������������������$�	
������
!
��������#�������������������%

<����#���������� ��������������������������������	��$������������#�������
������ 
����������%���	���	�����	���� �������	�� �� �������	�� ������
����
��	��
�������	������
������������	���	�����	������������������ ��������#���
��������
��� 	��� ������
����� ��� ���	������ ������	�� ��� �	�����	�� ��$���� �
����
�������������������������%�����	�����	
����	�	�����	������������������#���
����$�����%��
��	#���������:��������������	�����!�	���������������������
���	���
���������������$���$��	�����������������������������������
 ����#��%��&����������
���������������������������#����+core inflation, underlying inflation) ����
�	#��������
������������ ������	��� �����#���� ��	�� ���	#������ ���:����������� ���	�� ��
����������!�	�������������������
����������	� �!�8��������������	���	�����������
���#�������������#������#�������������������������%

6���
������� ��� ������������ ��� ��������	���� ������� 	�	�� #�����
��������
�����������#���������:��������������	�%���������������������������	���
�������� ��� ������� ��� ����	� ������� ��� ��� ������D� ��� ���������� 
�� ���� ��
��������	���� �������	�	�� ��	�� ��� �����������������9���$�����������������
������	�%�<��������	�������������������#������
	�
�#����������������	��������
����	�����������
�������������������$������������ ����������������������������	��
!������	������������#����������
���������!�������������$��
���!�����	�����
�����
������
�������������#���������� ��%������� ���	� ��� ��������	��������������� I
��������������������#��	������?����������	���	�������������������������������
������
������������	����������#��������I�������� ��������������%

���������� ��� �	������ 	�������#���� ����?
������������� �����	������
������	����������
�����������������������	�����	�����������������	��	�%��<�����
�����
�����������	� ��������� ������������$
��������� $ ����
�����������������
�����#����������	
����������� ���
��������������������	�����������	�� �������
���$������ ��$
�������� ��� ��������� ���:����������� ���	�� $�� ������
����� ��
�����#���������� ��%�6����
 ����������������������������������	�����������	�
������������������$ ����
����������������$�����������������	������������������
��� ����"�������%� �*��� ��$��������� �������	�
 ����������	��	�����������	���
������	� ������ ��� %�6���� ������� ����� 	���	����������� $�� ������������$�� ��
����������#��������� ������ ������������ ����������������#�������&�����������
4�����%�7��������$��������������������������
�������������� �����������������������
��� ��$���
�����B)C���3)C����="������������%��	����������������$��������	#����
����?
������������������	�������������	��������������������4�����%�7��(DDB� �����
�������� �������4������ ������� ���
	�� $�� �����
����� ��� ������� ��� ���������
�������
����%�<�����
���������	��������	�����
	����8����$
������������������
�����
���	���������������������������������	�����������	�����������������	�������%
������������������������������	�������������� ������������������������	������
���	������� ������	��� ��� ����� ������� ��� 	������	������� ������	�� ������� ��$
�����#���������� ��%

DA�� �������������������	�����������������������	�	�������������������������������������������������	���
������
#��������!
��������	����������������������	����.
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�������������������������#���������� ��� ��� ���
�������	��	
���9���	�
���!����

�% ������������������������� �����(horizon of the target-1
�% <$�����������	����������������������#������+choice of price index-1
�% J�������������������������� �����(width of the band);
 % ���#��������� ��$�������������	������������#����	�	�������������������� ��

(forecasting procedure-%

���.��
������
�1����������#����

4���������������������������	����$��������������#�������� ��������������
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���������� ������������������������ �����	�������������$����
��	
���������� �������� ���	
����������#����� ����������������� �������������
�������	��$���#�
��������������������������������������� ����%���������������!�	
����	��������������8�������������	������������#���������� ����������������������
�������� ���������!�#��������������!�������� ��
�������������������� �����
������
�����������������������������
��������!����������
��������������#���
�����
����� ��� ������� ��� ����$���������%� ����� ��� ��!�������� ��������
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����#�����������������������������#�������� ���
�������� ��������������
������
!�	���%������������	
����
#��������������������������
�������������
����������
�
�	#���� ��� 	������������ ��� �����#������:����������� ���	�� ���������$���
�
�	#���������$� 
��%

<���8������������	����� ��������
�	#����������	���������� ��� ����
��� ��
��$���!�	�������������������������	����������� ����� �������������������������
��������������$�������������	��$���#�
������������
���������������#����������5
 ��������������������������	����� ��������%�6����
�� ���������������	��	���� ��
����
��������  �� 
��������������������������	��9���$������� 
������������� ��%
E����
����������������������	���8�� ��������
��������#���������� ������������
����������
 ��$���������$���������������������������#������������������������
����
��������� ������������ ����������������#�����%�*�	�����������$�����	�������#��������
�������������#������������	��������������������������������������#���������� ����
�$���
�������	�������������� �����������8�� �����������������	����$���#�
����
������#������������������#�������������������������	�%�7�������$�����	��������	���
��������#���� �����#����������	��� ��� ����� ��� 
����
��� �����!��� ��������
�����
��� ��������������%�7������� �������	���� 9���$������������
��� �����	����� ��
���������������������������	�� ���  ����
�����$���� �����
�������	���	������
��
	�
�#���	���������������� ��$� ��$������ ����%

�����������������	�������������������������	��9���$���%��������������
���
	� ��������������������	�������$����������	
�����������	����������#���������!��
�������������������	��9���$������������$���������������������������$��
���!��
��� ��$�������������	������������#�����������������:��������������	�%�7�������
��� ��
���� 	� �� ������	���� ��� ��$���� ��� ������������������ $�� ������������� ��
�����
�������������!����������������������	��9���$������������
��������������
���	�������	������������#������������� ������� ������ �������������������
��������
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������$����������
�	#���������$� 
������������������	����	���$������!�	�������
��
�����	�������������%�6����	��#���� ��������������������	��������������$�����8���
�������	������������#���������� �����������������������������������������!�	%�7�
���������
����$���
�����$��1�
������	,�����	3������
	'Optimal feedback horizon),
����	���������������
��������
���$����$��1�
������	3������
	��	����
���
�	'Op-
timal policy horizon).

Batini, Haldane, McCallum � Nelson���� �����������������������	
����������#���
 ����$ ���
�����	�	�������������������
�������������
����������������������
������	�������������	��������	���������	�	���� ��������������#�������������������
����	����������#���������� ��������������%�6�������

Rt = constant + ψp (Etπ t+k – π*)

&����
Rt – 	���	�����������������	�����������	�
Et π t+k – ����	�����������	����������#����������������t+k
π* - ��� ������������	����������#���
ψp > 1

7�����#����������� ����������������#�������������������������	���������
����	����#���� ��� �������	���� $���#�
�������������������� ������	�%��������
�����������	���������	��������
����������	
����������������
�����������	���
���������������������	����$��������������������������������	�������������	��	�	�
�������������� ��%�4��������������$�������������������	����$���#�
������������
�������������� ��������� ������������������� ����	��������� ����	����������#���
��	��
�������	��������������������������	�����������	������	������������#���
��8��������������� ������8������������������ �������������!�����������������$�����
��� ������������������	��� �����
�������%��������� 
�������� �� ��	�� �������	���
$���#�
���������?
��������������	�������������	�������	#��������������#�����
�$���
������� �����%���������������	��������
��������	�������������	�����$������
������ ���������������������������������$������ �������!���$�������	������������
���
�����������������	�������!����%�"�	��	
��������	����$���#�
������$���
�������
��	��	
�����#�����	������������
��������	�������������	��8��$�������������
�����
��������� � 	� �� ����	���� ��� �����#���� 8�� ��	���� ������#���� $�� �������� ���
��� ��������������%
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Ms/P = L (Y, i)
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���	��$������
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 i -   	�����������	�
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�������� ������ ���9�������� 	���	�����!��� ��� �����
��� ��������� $�� �����
����#�������� �� ���$������ ��� ���������� ���	�%� *��� ����� �N� �� �������#�� ��
������������ ��� �	���������� ��� ��$������� ������#��������!�	���%� 7������
��$
��������������	��������	�����	����������	�������������������������������
�����
�����������������#���������	�����	�����
���	���	��������!	�������������%
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�6�������������	�	������������������������������� �����������������������	�
$���#�
��������������������������	�������������	������	�����������#�������
��� ��$�������������	������������#��������������������������������	�����������
��� ��������������������� ������������	���8�� ��� $ ������������������� $���� ���
�����$�����%�6�����������	�������������$��	������?
�$�������	��������������������
������ ������������ ����������������#�����%

*������,
<����#��������� ��������	��	
���������$����

��
�:����� 3�����
+��
	�
 �
���
�� 9
���	� �
�����
��

7��#�� )5/C (5/C ,�3C

,C�+�PI5�(
���#�����

����- ,5/C

"������������������#���������� ���������������������	��	��������������
������	�����������������������������������������$�� 
��������������������#��	���
$������������������������	������������#��������������������������������������%
E����
���������������#���������� ���	�	�������������� $����������
!
�������
	�����������������:��������������	��������	�������������������������$��
���!��
	��������������������#��������������%�*�� �������������������������$���
��
�� ���������	�������������:��������������	��������� ���������������������
!�	���%

7������������	�������������
��������!������$��!�������������� ���������
��������%�<$������������������������+tight hard-edged band)��������������#������
�������������� ������������
��������������
 �����������������$�����#���������������
���:��������������	��$��������
����������� ����%�*������������������������	����
������������$���� ������������:��������������	�%���������������	�����������
����
������ �����������
��������������������
��������:��������������	��������������
$�� ��������
������%�<$������ ��� ��!���	� ��������� $����� �� ������������� $�
���������������:��������������	�%�6��
	��������	�����
�������������$���#��
����
��������������������:��������������	����$������������������%

��	������������$����������������	����������	�����������������$���������5
�������������#����������� ����������������#����������	
�	�������������������	��
5� �	���������	�� ������� +	��� ��������� ��� ��������� ��� �����	�� ��� �����#����
����$�����������
�	#������������	#�������������	���-%�7�$�������������������������
���
�������!�	��������	����������������#��
����������������������$�������
������
������ ����%�Haldane�� Salmon, ���������������7���	��=���������
����������	�����
�����������������������D3C����������������������������������#���������� ���+(�5
2C-��$���
��������3)C%


�$
������������	���������	����������
�����
	��
�����������������#���
�����������������������������������������������������#�����%������������	���
��	���� ��������� ��� �������������������� ������	�� ��������
������� ��� ��	�
������������� ���������� ����� ��� ��������
��� ������ ������%� ����	�� ��	��	

�����#���������� ������������������	
�����	�������������������#����+core infla-
tion-��������������������!��������	���������!�	����	����������������	������������
:����������� ���	�� 8�� ����� �����������%� ��� ����:����������� ���	�� ����
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���	����������� ��	������������
�����������������������������	����
���!������ �
������
������ �����������������������#����+����������������������-%

#�����.������������#���
������������	�������
�*���
��

������ ������������ ����������������#�����������$����������
���������
�����
�������� ��� ������������ ������	�� ��� $��������� ��� ������
������� ��
��� ��$������������	����������#���������� ��������������%�������������:����������
���	��	���� ��� ������
�������� ������ ��������� ���������� �� ��� ������ ��9���	���
	������	�� ����������� $�� ���	����� �	���������	������������%����������� ��
�	���������	���������������9��	�������#��������
������������$������������	�
����������
����������$�����%

��� ��$�������������$������������ �������$���������������� ����������
	����������������#�%�6����
�����#����������� ��$�������������������$����������
�����$���������$������������#��������$�������$������������������ ���������#�$����
��	�������	�#����������#��	��������������	���������������	���������	����9��	�%
��� ��$����������������������������������#������ ��������
�����������������
 ��!	�������8���������������	��������$��������������
#��������������������$��������
��������������	�����	�������������%�4������������������������������������	������
$�������������������������� ��$����$�������������������������#��������
	
�����
������������� �%�%� �����	������	������ +leading indicators). �����
 �� $�������� ���
����������� ������ ��������	����#�������� ����������������#����������
	������
������������ ������	����$������ ��� �	���������	���������� ��� �� ��� ����������
	�������������� ���
��������������������������������������	���%

����������������	���:������������	��+����������:��������������	�����7���	�
=��������-�� ����	#����� ��� ������� �������� ��� �����#������  �� �����
����� ��
<$��!������$�������#������+Inflation Report). ����	�������
������������� ��$�������
����	����������#���������	� �!�$��������� ���������������������%�������
������
���  ��!	���� ��� ��� ��$�������� +�� �������� ���������������-�� �� ����������	

�������������
������ �������
���	�����������������:��������������	����!��� �������
�����#����������	
�������� �����������!	�����������������������������$�������
���	�����������������������	�����������������	���������
	�����%

4.�+
��

�������#��
��������
�*���
����

9���	D����
�����	��	��,��&���
�	��	������	��	��
������	���������

��������� ���� ���������� ��� ������ ������ ��� ��� ����������� �����#������
���
	����5�
#
���;�
�*��	�
�
������� �������%���������������������������������
���
��������
���������������?
�	��������#�������������������������	��������
�������
$�� ������ �����$������ �� ��������#����� ���:����������� ���	�� +��?
�������
$������������������	��� ��������������������
�	#������������	#�������:����������
���	�� 5� reaction function-%��������� �����$���� �� ��$������ ��������� ��� $��������
�	���������������9����8�����������������������	�����������$�#��������	���������%
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	9�����	%
���
��	'�������)	
����
�����	��	��,��&���
�

6����	��#������$������������$���������#����������?
������#���������� ��
��������������	�����������	��+��������������	����	���������	�
�����������
����
���������������������	��������������#�����������	�������������������
��9���$������������������������	�-%

���
	�
���������	��������������������������	
�������������������	��

πt - πt-1 = α1 Y t-1 + εt         
10 (1)

Yt   = β1Y t-1  - β2 i t-1  - πt-1 + η t,              β1 <1 (2)

&����
πt  =  pt – p t-1�������	����������#����������������t
Yt  = ��$��������$�������������$��	������?
��������������������#��������
����$���
i t  = ����������	�����������	�
εt, ηt = ��$�������������������������
������!�	���

7����	���������������������:��������������	������������������	���������
	����������	�������������	��	���� ������������������������� �� ������������
���	�%
<������ �������� ������������� ����������� ��� �������#������� �� �����!
���	�
�����
�����������!�#���������$���
��������������������������	��������	������
����	��������	���%�����������������������	��������$����������	�������������	����
���	��������������������������������	�����������	����������������	�������������	�
���$������ ��� ������� ���:����������� ���	�� 8�� ������ �� ������ ��������� ��$
�����
���������� � �� ������������
���	�� +���	
�	���������� �	��������	������
����	��������	���-%

��������������������	����	��
�����$�������	���������������������������
�����#��������#�	��������	�����������������$���������������������	��$���#�
����
��������������%

7������������	����	��
�����$�������	�����������������$����������$���������
����� ����������������������9������������������ �������	��������������������������
	������� ����	�� �� ����	���� ��� �����#���� ��� ����9������� ������%� 7�� ��	�
���
	�
���������	���������������������������������	������� ����	��������� ��$
������������� ��$����������$��������������������	��$���#�
��������������������
����	���������������$� ����	������������#������ ����������	�� $���#�
�����������
�������%�7������	���� $���#�
���������?
����������� ���������������	������
����	��������	������������#����������$���
���	�	��	����������������	��$���#�
����
+control lag).

7�� 
������ ��� 	��������� �������	�� $���#�
����� ��� ���� ��������� $�
:��������������	��������������������������
��������������������	�����������	�
��������	���8�����$�����������������������	
�����������	����������#���������������

10��7������������	�����	���������� �������	�������������������������������������%
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t+2 ����� �����������������������#�������$��������������������������������#��
������������t%

=����8���������������������������	�����������	�����������$������#��������
����������� �������	�� $���#�
������:����������� ���	��8������� ��� �������� ��
�������
�������� ����	������������#���%������������	��	
���������	�����������
�����#������������������������������������	����������#�����������������	������
����	��8��������������	�����������%

�7��
������	� ��:��������������	��8�������������������������	�����������	�
�������������������������	������������#����+π�P,-�8��������
�����������������������	�
+π�P,It) �������#���������� ���$�  ��!	������������	���������zt+2�

π�P,�R�π�P,It + zt+2�����������π�P,�5�π�P,It = zt+2

����������	���� �$��$� ��	��
��� ��	�� �
��� �� ���� ��������� �������� ��
����������$������������������
�������������
�����������������������������	��
�$������������
������������������������	����������#���������� �������������������	
8��������%� �6�����
�����������$
�������� �	�������!�	����	��� ��������
����� ��
�������������������	����$���#�
����%�&��	
��������#�$��������������#��������	

8����������
���!�����$
��������������$�����������	�����������������������	�%

4.1.2. C����������	
����
�����	��	��,��&���
�

������ ������ ��� �� ����� ��� �������� ��� �����#������ ����������
��
�������#�������:��������������	�������������	���������
�������������#������
#��%�7�������������������������� ������������ ����������������#������+���	�������
��� �������-�����������
������
����������
������������	������������#������������
�����$����������$�������������#��������
�	#�������:��������������	��

Lt =  (πt -  π)2 /2 + γyt
2 /2,   γ > 0,  (4)

	����γ ��������
������������������������� ����	��
���������������$������
	���:��������������	���
� ���������������$����������$���������������������������	���
��������#���%

<$���
������������������ $������������	������� ����	�����
������	� ����
#��������
�	#�������:��������������	������	�
�����	�	�������#���������	����������
�������$���������������������
�����������������#��%�<������������$�#�������������
�������������������������$��������������������������8������������	������	������
�����#������$��������������$�����������������9�������������������	������$���������
��� ��	������� ������� �� ����� ��	�� �������������� ��� ����	���� ��� �����#���� ��
����9�������������%

���	
� ��9��	���� ��� �������	���� ��� ��������� 
�������� �� ��	�
����	��������� ����	����������#����8����������������� ��������#������� ��� ��
��	��	
����	
���������$��������$��������������������������������� ��������������
����	�������
��%���������������	��	
�������	
����� ���������$��������$������������
���������t+1 :��������������	��8��������
������ ����
�����$�������	
������
����
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���	�������������	��������������t��!���8����$
�����������$�������������
�������
����	������������#������������#���������� ���������������t+2%�&��	
����� ������γ,
��������������������$��������������$��������������������������	������������#����
���	
� 8�� ����� �� ������ ����������� ��� ���	
������� ��$� ��� ����$���������� ��$
����	�������������	����������#���%�*��������#��������������� ���
������������
���:��������������	����������� ��
��������������	�������������	����������#���
	������ �������������������
�������������	�������#�	��������#���#���������������
����$���������%�����
�������������������������
�������� ��������	�����������
����� ��
�����������������	������������������	��$���#�
������	������ ��
�����
�$���
��������������%�6������������������ ����������
�����9���$������������ �������%
�� ������ �������� �� �������������� ��� 	���	������ ���!�	��� 	��� �����$��	��
������
������������	�������������	����������#���������� ��������������	����������
������������!�	���������
���������������������
���	������������������������
����%
<�����������������������!�	��������������������$�������������	��$���#�
�������
�����������������9���$���� �� ������� �������� �������������� �� ��������� ��$
�����
�����������	�����	�����
���	����������������	
���$������	�����%
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���$������	�����%�*�	��������������������$�����	
�������������������� 
�����
�������	��$���#�
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�����������������������������$���	
���������	�������	
�������������$�#�����
���������$�� �� ������������
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����������������������$�����	
��
�����#���������������#���������
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"���$�����	
����������������������������������� 
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Agenor �������������������� �	��������  ����������
��� ��� ��������
�����	��

πt
N   = ∆ et  +  α1 yt 

N
-1  + εt , (5)

yt 
N = -β2 (it-1 - πt-1) + β3 (∆ et-1 - π Nt-1) + η t, β3 > 0 (6)
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πt   R�δ πt
N + (1 - δ-�∆ et ,                  0<δK( +0-

it  = i* + Et et+1  - et  + χt, (8)

Et et+1 = et - θ (∆et - πt
N),           θ >0 (9)

&�����et  ����������
�������������������$���	
����πt
N ����	����������#������

����$���������������� +��������
������������������������$�������� ���������-�� i*
�����	��	�����������	�������	��χt ���������������	���������������
����������������
�������������!�	���%

������� �����	�� ��������
���������#������A��������� 	����%�*��� ��� ��
�	�
�
�������	������������#���������	�������������$��������������������������t-1,
a  �� �	�
�
��� ����������� ��� ����$����� 	
���� ��� ����������	�� ��	�� �� �����
�����#���#����8����������	������������������	����$�������������#�����������	�����
�������$������������������������������#���������
��$������
������%

7������������	�����
�	#������� � �� ������������
���	�� $������$�������
�����%�7�����������������������	�����������	�
������������������������$���������
������������t-1�+β1 = 0), ����	����������������������������$���	
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��$��	������?
�����������������$���	
���������	������������#���������	��������
����$�������������%��������������
�����	����������������������������$���	
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*������������	������������������	������������#����	�	������������������	
��� ����	������������#���� ��� ��	��������������$������������$��������������� ��
����������	��$��	���������������	��#���������$���������������%

H��������������	����������
�����������������������!������������	����	������
����	��������������������$�����	
��������������������������������!�	���%

�������������	�� ��� ������������	
������������������� ���������#��������
����$�����	
��������������� t+1 	�	���
�	#���������$��	��������?
������������
����$���	
��������	�����������������������������$���	
���������#���������������	���
��������#���������	�������������$�������������%

7�����	������� �����$������� ��� ������������������#������ ��� 
��������
����������	�����������������
����������������

(%��"��������$�����	
������������$��������������������$���������1
,%�"������� ����������������#�����������	�������������$���������������

������������� ������������ ��� ������������������#������ ��� ������ ��	����� +��
����$������������$�������������-%

�����������������$�����	
������
�������������������	����������$��������	���
�������������������$�����������#�������!����������
����������$������������ �� ������
�����
���	����� �� ����������
��%�7��
������	� ��:��������������	�������������#����
�
�	#���� ��� �	�
�
��� � �� ������� �����#���� +��� ��	������� ��� ��$�������� �
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����$�������������-�������������������$�����	
������	
��������������#��������
��$����������������8�����������������������������������	�������������	��+���	

�������������	�������������	�����:��������������	�-��!�������������������$��	
��
��#���#��������������������$���������1

(%��������������#����$����������������������������+	�����������
��������
���������� ��� ������ ������ ��� ��� �������� ��� � �� ������� �����#���-� ���	

	��������� ��� ������������� ��������� �������� ��	�
�
����� ��� �����#������ ��
��	������������$�����������������#��������
�	#�������:��������������	�%��������
�������������������������������������������������$�����	
�����$�#����������������
���:��������������	�%

�����������#��������
�	#�������:��������������	��8���$ �������	��

Lt = (πt
N - πN)2 /2 + λyt

2 /2

Bharucha ��Kent ((DD.-�������	�������������������� �������������������������
��	��	
�����$�����	
����������!��������
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	�
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:���	2�����	(��
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7���	��=���������$���������� ���������
��������� ������������ ����������
�����#������ ��� (DD,�  ������� 	�	�� �����������$�� ��� ��� ���������� ���#��� ��
��$�����#���%

�"��������������������� ‘0)5�����  �������������������������	�����7���	�
=��������������������������	���������
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���$�����������#��� �����$���������������	���� $�������������� trade – off ����?

����������������������#�����%�7�	��������������������������������������	��������
�����#�����������$�����$�������������#����������������������	���������%�*�	�����
(D03� �����������	������������#�������7���	��=�����������������,3C%

"�����$������� ��������� ��� ����	���� ����	�� ��� �����#���� ��� ���������
���������� ��� ������
������� ��� #��������� ����������� 	�	�� �����������
��	���	�����	��#��%�*�������������
�������$���������������� ����$��������
����
���#����%

I. �������������#��
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5�������
�������������#���������� ������������������(�5�2C��	�	������������
#������������������������	�%�*�� ������,�3C����������������	�	��#������	��������
�������������� �!��������������1
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